PN
up=l
oo
System

Products

E%R

Industrial

HEIREEAT—2 / T—7 WYL X 70X70, 100X 100

Motorized Rotation Stages / Table Size 70x70, 100X 100

RERA

Manual
Stage

RAOSA-TO1 RAO7A-T02 RA10A-TO02

Eﬁﬁon HERDART E—F—TNORSE. ENERRYET. ELEFERFIOMMERYET.
o RAO5A-TO1 *The length of the connector cable in the image is different from the actual one. The bending radius is 40mm.

50 ) CW Limit Sensor

ZAN)L 40 Home Position Depth 4mm 40 5

(I=4) 30 CCW Limit Sensor o | AHS8

Swivel ‘ | 4 il o

(Tilt) =) e
M N ACCW

BBiE S8 D~ Jow_ (200 3 g

ATF—=Y v !

Motorized
Stage
X-XY © ]
XeXY 4-M3 Depth 4mm
4-M3 Depth 4mm
@17 Thru

(76.5)
)
L

11

| [h
M4 Depth 6mm / 3-for M3 screws
®4H8 Depth 4mm | |15 Shaft length 3.5mm

Tapping hole for M4 screw
mount from back side.

{E3ERY (NES) TORUMIFERUET, =M
Mounting by low head screw (attachment) Back Side

=)
)
5o
I
o
=
hul

=L
Rotation @ RAO7A-T02

ZA4N)L
(I=#)
Swivel
(Tilt)

754
Xk
27—
XYe

30 Depth 5mm 4H8 ‘

70

060 :
40 15
5
I
@
60

(109)

Rz

25— 4-for M4 screws ]

Vacuum Shaft length 5.5mm — /

Stage e e o e /
S 4—4’iﬂ'\;4|3D§§tTh5én:m / (140) (0'42 . (0.5) ®4H8 Depth 5mm =M
Control P Back Side

Electron-

1)

= }g BT (HER) TORUNGEBUET,
== © oL Mounting by low head screw (attachment)
avho-3
Motor
Controller @ RA10A-TO2
RS54\
RyIR 90 ‘ 90 5
Driver 60 30 80 ‘
Box 40 CW Limit Sensor Depth 5mm 5H8

77U E "Home Position
TF—ay CCW Limit Sensor
Applica-
tion
ET—9—
RSN\
Motor
Driver

E—5— ¢
T=I
Motor
Cable { =

Shaft length 5.5mm
8% Tapping hole for M5 screw

Appendix 4-M4 Depth 6mm mount from back side. ¢5H8 Depth 5mm _'_ﬁ
4-M4 Depth 6mm (157) (0.4)].29.1 | (0.5) =

4-M3 Depth 4mm Back Side

7ot =
$0— ) B (NEBR)T ;
Accesso- men IR NIl % EBERY (NER) TORUNFEBRUFET,
ries T T Mounting by low head screw (attachment)

(28)

1)

100 (22)

5

=+ o
N

cew i &) o [ °f

it
7
|| \4for M4 screws

=

100
20
60
40
20

Ccw

(139)

090
60

(1)

(28)

1)

RE
VAT I
Inspection
System

J-010 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



7V 9RAR=-FATY G 1 87717 M-HR (F-N2Y) T T & |

Aluminum Body / Cross-Roller Bearing / Tangent-Bar(Ball Screw)

X

Model Number RAO5A-TO1 RAO7A-T02 RA10A-TO2
BFEOERK
Mirror Model Number RAO5A-TO1-R RAO7A-TO2-R RA10A-TO2-R
?r__j)lfﬁ 50mmx50mm 70mmx70mm 100mmx100mm
able Size
ES0 Pk JOAOQ—SX7Y> Y
Guide Mechanism Cross-Roller Bearing
2R EE R o o
Angular Range +3 5
EUFR AT TUNN—FR (R—L2D)
Lead Mechanism Tangent-Bar System (Ball Screw)
TIWV/IN=T ATV T ~ o o ~ o o ~ o o
SRR ” Full/Half Step ~0.004°/0.002 ~0.001364°/0.000682 ~0.001°/0.0005
Resolution ~ | Y4407y 7 (1/2058)) ~ . . . ~ o
Micro Step (1,20 div) ~0.0002 ~0.0000682 ~0.00005
RERE o . 5 . 5 .
ey 40°/sec: Half 20kpps 13.64°/sec: Half 20kpps 10°/sec: Half 20kpps
RMRRE

Accumulated Lead Error

OANE—3>

L g =0.005° =0.005°(AVE. 0.0018°) =0.003°(AVE. 0.0005°)
ost Motion
AEBRYE ® o o o o
Angular Repeatability =0.001 =0.002°(AVE. 0.0001°) =0.002°(AVE. 0.0001°)
EyFirE
Pitch Error
g3y <0.005° <0.005° (AVE. 0.0015°) <0.005° (AVE. 0.0003°)
acklash
HiR < o < ® o < o o
Surface Runout =5um/+3 =5um/+5° (AVE. 1.7um/%5°) =5um/+5° (AVE. 1.88um/%5°)
R < o o o < o o
Eccentricity =5um/+3 =5um/£5° (AVE. 0.99um/+5°) =5um/+5°(AVE. 1.15um/+5°)
XA
Moment Load Stiffness 0.31 arcsec/N-cm 0.15 arcsec/N-cm(AVE. 0.02 arcsec/N-cm) | 0.05 arcsec/N-cm(AVE. 0.01 arcsec/N-cm)
KR
o] Cr ey (i) 58.9N (6kef) 78.5N (8kgf) 147N (15kgf)
MHE TIIE
Material Aluminum Alloy
S8 B&ftElF
Finish Clear-Matt Anodizing
BE
Weight 0.5kg 0.9kg 1.53kg

PK513PB (1) IV 2 E—4—: ERER 0.354/
BEARTYTH 0.72°, )—RE5K)
PK513PB(Oriental Motor: Phase Current 0.35A,
Basic Step Angle 0.72°, 5-Leads)

SHATYEVIE—E—
5 Phase Stepper Motor

PK523HPMB (AU IV &I E—&—: E&ER 0.75A/
HEARRTYTH 0.36°, U—RR5AK)
PK523HPMB(Oriental Motor: Phase Current 0.75A,
Basic Step Angle 0.36°, 5-Leads)

%3

T2 ®4mm AT 3> /\URIL: C type d5mm AT av/\URIL A type
Motor Shaft Diameter ®4mm Conformance option handle: C type ®5mm Conformance option handle: A type
aAXIAR Hifz20E> (EO+t: RP13A-12JG-20PC)
Connector 20Pin Round (Hirose: RP13A-12JG-20PC)

AF—IRREAT 4

Stage Wiring Type ~ va2 V3
Y ERER F-115(HOME,LIMIT), B§Fi&L: F-115R(HOME,LIMIT)
Sensor Model F-115(HOME,LIMIT), Mirror Model: F-115R(HOME,LIMIT)
V) —=201) ZERREIRK
Clean Room Lubricant Model Number RAOSA-TO01-C RAO7A-TO2-C RA10A-T02-C
HZe U AEHEIR
Vacuum Lubricant Model Number RAOSA-TO1-V RAO7A-TO2-V RA10A-T02-V

51 AT =V OREFIN—TATY T THI>THVET.
) Stage is inspected by half step setting.
AT —IAEROFMIC DV TIEN-026~N-0272BB L TF X0\,

Refer to page N-026~N-027 for stage wiring connection information.

o F—N—FR—IBIIEBRREEENEEA.
TT&EL,
Additional parts cost is not included on Overhaul
further information.

o JV=27) AEROBRIIKREIC -C" PREET.
EZBRLTTE,
Clean room lubricant model has “-C” at the end of model number. Page C-005 for
further information.

o B2 AHROBRIEKRIC -V PEEET. FHICONTEC-005K—Y %2
RLTTFE,
Vacuum lubricant model has “-V” at the end of model number. Page C-005 for
further information.

o - —HEOFMIC DN TIFC-004X—2 BB L TTE,
Page C-004 for further information about motor change.

FRICOVWTIRIBR—VUEBRL

cost. Refer to page 16 for

FMIC DV TIXC-005N—2

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

(%)
(%)

(%)

HAOREEZDY FLTOET.
Cut off the edge of motor shaft's output side.

WETHE—Z—IY hO—F - RIANCDVWTREN-002X—2ZBR L TTFELN,
Refer to page N-002 for information on corresponding motor controller and driver.
T BE—E—T—TINCDNTIEN-014~N-015X—=I BB L TTFE0,
Refer to page N-014~N-015 for information on corresponding motor cable.
BEHEOIBLILKLVEROBWELEY ET, FLRBEEBETHEHVEDETE,
We appreciate the product customizing. Contact us for further information.
FIEYIIZDNTIFO-00IR—=J&BBLTTEL,

Refer to page 0-001 for information on accessory.

F72aVNY RINE0-008RN—2 & BB L TTREL,

Refer to page 0-008 for information on Option Handle.
2HATYEYTE—R—HREEAVET.

2 phase stepper motor is available.

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

AT I
K@

System
Products

EXR

Industrial

RERA
Experi-
mental

X-XY
X-XY

[ElEn

Rotation

AAN)L
(I=#)
Swivel
(Tilt)

BEE
25—

Motorized
Stage
X-XY
XeXY

[ElE

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)
734
XUk
AF=
XYe

Rz
27—
Vacuum
Stage

=S
Control
Electron-
ics

tT-5—-
avhk0-5
Motor
Controller

RS\
Ry IR
Driver
Box

77U
T—vav
Applica-
tion

tT—9—
RSA/\
Motor
Driver

E==
7=
Motor
Cable

8%
Appendix

7ot
JU—
Accesso-
ries

RE
VAT L
Inspection
System

J011



